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#include <iostream>
using std::cout;
using std::endl;
inta(int 1)
{ . .

static int v=1,;

Int t=v;

V+=i;

return t;
}

int b(int i)
{
int v=1;
Int t=v;
V+=i;
returnt;
}

staticint v;
intc(inti) {
int t=v;
V+=i;
return t;
}
int main()
L
inti;
for (i=1; i<=10; i<<=1)
{
}a(i); b(i); c(i);
cout<<"a="<<a(l)<<endl;
cout<<"b="<<b(i)<<endl;
cout<<"c="<<c(i)<<endl;
return O;
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username | email password | creat_time
John John@mail.com john 2017-01-01 03:26:30
Marry Marry@mail.com | marry 2017-10-10 20:15:56
Stephen | Stephen@mail.com | stephen | 2017-12-25 23:59:59
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#include <stdio.h>
#include <stdlib.h>
int main(void) {

}

)"

intx=5y=7,
if(x=6){
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printf("%d\n", x*y);

}
else{

printf("%d\n", x+y);

}
if (x==8){

printf("%d\n", x* (x+y));

}
else{

printf(*%d\n", X -

}
printf("%d\n", X);
printf("%d\n", y);
system("'pause");
return O;
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